KR — K1 (A4HHR)

Sfn % 4HY
T 78 T3 F /KB K B R Sl s 2 (g Yk S)
BROKIEFH 9:00
K KERBRAER (TRibHh)
iR . ' zi A% | <~ .
A R S8R m | e | pu PO e il I T A i
C C S mg/1 | mg/1 mg/1 mg/1 mg/1 mg/1
1| H 17.4] 13.0 0.5 7.35
2| I 18.8] 12.9 0.4 7.41
3 & 11.8] 13.3 0.4 7.46
4| 16.5| 13.3 0.4 7.50
5| & 17.5] 13.5 0.4 7.53
6| = 16.0| 13.7 0.4 17.51
71 W 17.0] 13.9 0.5 7.52
8| M 15.2| 14.2 1.0] 7.36
9] H§ 12.6] 13.6 2.5|  17.05
10| P 16.5| 13.7 0.9 17.37
11 17.9] 12.2 0.6/ 7.23
12| & 19.5| 13.2 0.4 7.31
13| & 14.0| 13.4 0.4 7.40, 16.5] 18.9 52 3.8/ <0.03] <0.02
14| 17.5| 13.6 0.4 7.40
15| 12.5| 14.3 0.4 7.43
16| 17.1] 14.5 0.4 17.51
17 W 14.5| 14.3 0.4] 7.41
18| 16.4] 14.4 0.6/ 7.50
19 = 18.2| 14.4 0.3] 7.39
20| & 20.0] 14.4 0.4 7.36] 17.0] 18.1 54 3.7 <0.03]  <0.02
21| I 20.5| 14.5 0.3 7.42
22| & 14.1] 15.0 0.4 7.40
23| I 18.3] 15.7 0.4 7.32
24| £ 14.5| 15.7 0.4 7.34
25 [ 12.9] 14.9 0.4 7.32
26| i 14.0] 14.7 0.4 7.34
27| W 15.1] 13.2 3.8 7.23
28| & 20.0] 14.4 1.2]  7.49
29 = 20.0] 13.4 0.8 7.14
30 [ 18.8| 14.4 0.5 7.19
s 16.5] 14.0 0.7 7.37| 16.8] 18.5 53 3.8/ <0.03] <0.02
5 20.5| 15.7 3.8/ 7.53] 17.0] 18.9 54 3.8/ <0.03] <0.02
K 11.8 12.2 0.3 7.05| 16.5| 18.1 52 3.7 <0.03]  <0.02




B — Tk (AM4fHR)

ofn 5% 4HY
T 78 T3 F /KB K B R Sl s 2 (g vk S)
BROKIEFH 9:00
ook KERBRER (Fdkih)
iR ; . T A% | <~ .
ARG S e | om | opH P i i B T I 55
C C S mg/1 | mg/1 mg/1 mg/1 mg/1 mg/1
1| H 17.4] 13.1 0.5 17.38
2| 18.8| 13.4 0.4 7.47
3 & 11.8] 13.6 0.4 17.56
4| 16.5| 13.7 0.4 17.58
5| & 17.5] 14.0 0.4 7.62
6| = 16.0] 14.1 0.4 7.64
71 W 17.0] 14.3 0.4 17.57
8| M 15.2| 14.2 0.4 7.47
9] H§ 12.6] 13.9 1.1]  7.34
10| P 16.5| 13.4 1.3] 7.25
11 17.9] 13.5 0.8 17.30
12| & 19.5| 13.5 0.5 17.38
13| & 14.0| 13.5 0.4 7.44| 13.6] 16.9 46 3.7 <0.03]  <0.02
14| P 17.5| 13.9 0.3 7.59
15| [ 12.5| 14.3 0.4 7.64
16| 17.1] 14.5 0.4/ 17.58
17 W 14.5| 14.6 0.4 17.70
18| 16.4| 14.7 0.4 17.74
19 = 18.2] 14.9 0.3 17.60
20| I 20.0| 15.0 0.4 7.52| 16.7| 18.0 36 3.7 <0.03]  <0.02
21| W& 20.5| 15.3 0.4 17.57
22| & 14.1] 15.4 0.3 17.65
23| I 18.3] 15.6 0.3 17.63
24| £ 14.5] 16.0 0.3 17.66
25| [ 12.9] 15.8 0.4 17.56
26| i 14.0[ 15.2 0.4 7.54
27| W 15.1] 14.4 0.8 17.37
28| & 20.0] 14.1 1.2 7.31
29 = 20.0[ 14.8 1.0 7.30
30 [ 18.8]  14.9 0.7 7.27
1y 16.5| 14.4 0.5 7.51| 15.2| 17.4 41 3.7 <0.03]  <0.02
5 20.5[ 16.0 1.3] 7.74] 16.7| 18.0 46 3.7 <0.03]  <0.02
K 11.8] 131 0.3 7.25| 13.6/ 16.9 36 3.7 <0.03]  <0.02




